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Mote: - (1) All questions are compulsory.

(2) All questions carry equal marks.
(3) Figures to the right indicates full marks

Select the appropriate answer and fill in the blanks (Any 8)

---------- is a process of selling government equity in PSUS to
private parties.

a) Privatization b) Globalization

¢) Liberalization d) Disinvestments

As per the NIP 1991, at present there are only --------- industries
reserved for public sector.

a3 b4 oS d)7

In the State of =---------=--=- number of farmers suicided is the
highest.

a) Madhya Pradesh b) Karnatka

¢) Maharashtra d) Chattisqarh

Human rights have ----smmmm=ms=="- application.

a) limited  b) Mamixum ¢) Universal ~ d) most

The national rights theory first germinated in the ----------===
theory of ethics as the basis for politics.

a) Grotius  b) locks ¢) Hobbed d) Dr. Ambedkar

The objectives of Right to freedom of religion is to sustain the
principle of ----------- : ’
a) Secularism b) Socialism ¢) Humanism  d) regionalism

In an ecosystem the ----------=- are primary producers.
a) animals b) birds c) plants  d) consumer
Acid rain is one of the harmful effects of ~--m-m---- pollution.

a)air  b)water c) noise d) land

------------ means pre-judgement. Y

a) Stereotypes b) Aggression c¢) Prejudice d) Violence
----------- helps to develop the power of concentration.
a) Physical exercise b) Meditation

¢) Time management d) Social support

Col,Co2,

State whether the following statements are true or false (Any 7) i

Rural to urban migration is more common in developed
countries.

Disinvestment of public sector helps to improve the efficiency
of PSUS.

Human rights are derived from the principle of natural law.
The fundamental rights are absolute.
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Q2.A

Q.2B

Q3. A

Q3B

Q4. A

Q4B

Q5. A

Article 17 of the constitution abiolishes the practice of
untouchability,

Natural environment provides renewable sources of energy.
Urbanization is the only cause of environmental degradation.
Basic human values help to improve standard of living in a
society.

Smoothing refers to accommodating other party’s interest.
Individual factors the only causes of stress.

Briefly explain Liberalization, privatization and globalization ~ (€9'-RD
and changes in employment.
OR
What is migration? Explain caused and impact of migration. (COI-R)
What are the impact of environment degradation on human life? (€92R
OR
Briefly explain principles and guidelines of sustainable (cor-U)
development.
Explain the significance of value in individual development. (cozu)
OR
What is significance of ethics in individual development? (oL
(CO1,UAP) .

What are the different methods of coping with stress?
OR

Write short notes on (Any 3/5)

Corporate farming  [U]

Right against exploitation  [U]
Conflict [U]

Privatization [R]

Farmers Suicide  [R]
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